TH6HEE ERMEERMAEE
HH6E4A1BMLRF7E3AIE

(B F1)
y SH6EE SHSEE B R
# B (4PHE) | (4WPEE) | (R6-R5) L
I —RIEBRBAEE D
1 BEEBOEH

(DEBIE
7 EAXRBEERE 18,097 18,097 0
| ERBMEZIAL 18,097 18,097 0
1 BEEEERK 1 1 0
[ BEEEEmAE 1 1 0
7 SIMLE 1,000 1,000 0
| B4 8IA 1,000 1,000 0
I BERE 10,200 11,220 -1,020
FHESEZEIRA 9,400 9,500 -100
2OLEEIPN 800 1,720 -920
T ZRENEE 27,685 17,487 10,198
B RASE 4,600 1,600 3,000
EREABEREZIRA 23,085 15,887 7,198
h BREHE 100 100 0
EXMERTESFMAE 0 0 0
FHEURA 100 100 0
SHREMEEREE 0 0 0
¥ BINE 8 8 0
EXGE 8 8 0
BERAE () =7~% 57,091 47,913 9,178
QOREER 0
T BXE 56,540 47,044 9,496
& S EREN 5,060 4,400 660
EEBERKHFY 15,720 13,415 2,305
R ERETS 9,000 6,276 2,724
ESSIBERAE 1,461 1,724 -263
BBA{TER 620" 600 20
BEIELEE 3,794 3,440 354
REXEE 1,601 894 707
BIEERE 3,020 2,827 193
FmEAE 0 0 0
2BE 84 20 64
EHERE 565 580 -15
FRIEKRE 1,234 974 260
FLEKE 400 400 0
EEH 2,435 1,855 580
Rk 6,495 4996 1,499
NFHAE 1,100 920 180
X EEE 213 213 0
RILBERE 1,360 1,260 100
XHIERE 1,782 1,782 0
EXPEESZH 0 0 0
HE 596 468 128




{ EEE 3,448 3,252 196

& B EREM 1,100 1,100 0
EHBSHATE 0 0
ES55LERAEE 130 119 11
EBRAER 0 0 0
EHELEE 60 60 0

SEE 5 5 0
REXEE 120 80 40
BEERE 320 370 -50
HERE 32 10 22
fRISAE 136 46 90
SLEIKE 47 47 0

Ef&# 312 230 82

EiE 1,000 1,000 0

i EEE 36 36 0
AFNEE 0 0 0
EAXMEESTH 0 0 0

WE 150 149 1
BEERE(2)=7+1 59,988 50,296 9,692

(3) FHmIB AT 0

7 MRS LR EIRES 0 0 0

[ BEAMEFHERSE 0 0 0
D BEEETHERSE 0 0 0
I REAMESTHRSSE 0 0 0
MR AR (3) =T ~1I 0 0 0

(4) BEAREIEREE 0
L R R =(1)-(2)-(3) -2.897 -2,383 -514
2 BENESROL 0
(D) BEMNMRE 0
7 thEEHHALDEALE 0 0 0
BEMREE ) 0 0 0
(2) BENER 0
7 L ~DIEEE 0 0 0
BRESNERFQ) 0 0 0

(3) LEARESIRBE 0
| LEERESMERAE=(1)-2) 0 0 0
3 L — AR TEORBE AR RAE=1+2 -2,897 -2,383 -514
4 —REGRBEHERS 31,428 33,811 -2,383
5 — AR ERKEA IR E=3+4 28,531 31,428 | -2,897
I EEEKRBREDS 0
7 ZREFHE -7 -7 0
SWMEHE 10 10 0

TN IR -17 -17 0

1 EXMEERE 18,097 18,097 0

| 2 AKEAEEFIBURA 18,097 18,097 0

9 —RERBME~DIREEE 18,097 18,097 0

[ —BEsREE~ Ol 18,097 18,097 0

1 $55E IEBREA IR BB=T+1-7) -7 -7 0
2 EEERMEHE RS 930,383 930,390 -7
3 R ERREE=1+2 930,376 930,383 -7
I EREAEHRIEE=15+ 03 958,907 961,811 -2,904




TH6HEE ERMERRMIHES ARE
BH6F4A1BALHH7EIR31H

(BH: D)
NnEEMEE
B B ERERE THRRU EARE | DOX & &
ER QL o 3 !
I —{RIFBRBAEE DER
1 RERBOL

(BB
7 EXRMEERE 15,382 2,715 0 18,097
| EXHESIRE 15,382 2,715 0 18,007
{1 BEEEERK 1 0 0 1
| BB EERE 1 0 0 1
N ZRREE 1,000 0 0 1,000
| BpLBEIRA 1,000 0 0 1,000
I BEINE 10,200 0 0 10,200
BHES EIIA 9,400 0 0 9,400
TOMBEIRA 800 0 0 800
T ZRRENESE 27,685 0 0 27,685
EHBSINAE 4,600 0 0 4,600
ERXRELEAZIRA 23,085 0 0 23,085
h 2hREfAE 100 0 0 100
EXRBEEESTHGE 0 0 0 0
FRAEIRA 100 0 0 100
SRENEEFREE 0 0 0 0
¥ HINGE 8 0 0 8
ERGE 8 0 0 8
EEIRSE ) =7~F% 54,376 2,715 0 57,091

QOREER
T BXE 56,540 0 0 56,540
"EHRM 5,060 0 0 5,060
EHBEHRHETES 15,720 0 0 15,720
RS RH TN 9,000 0 0 9,000
BESSISEEAS 1,461 0 0 1,461
BBSHMER 620 0 0 620
BEIELE 3,794 0 0 3,794
REXEE 1,601 0 0 1,601
BEERE 3,020 0 0 3,020
BRENE 0 0 0 0
F=t o 84 0 0 84
HELE 565 0 0 565
ERERE 1,234 0 1,234
StEIKkE 400 0 0 400
B 2435 0 0 2,435
bk 6,495 0 0 6,495
NHEAE 1,100 0 0 1,100
i EEE 213 0 0 213
X HBhrkE 1,360 0 0 1,360
ZIERE 1,782 0 0 1,782
EXBERESXH 0 0 0 0
e 596 0 0 596




1 EEE 0 3,448 0 3,448
& S 0 1,100 0 1,100
EEBERHTS 0 0 0
ESSILEBRALE 0 130 0 130
BRS G ER 0 0 0 0
BEHELE 0 60 0 60
SHE 0 5 0 5
REXEE 0 120 0 120
BIEERE 0 320 0 320
HERE 0 32 0 32
HRISNAE 0 136 0 136
FEOKE 0 47 0 47
EEH 0 312 0 312
Btk 0 1,000 1,000
X EEE 0 36 0 36
NENE 0 0 0 0
EARBEEESTH 0 0 0 0
BE 0 150 0 150
BEERG Q) =7+1 56,540 3,448 0 59,988
(3) FFfMi8 45t
7 SRR S TR L S SRR E 0 0 0 0
1 EXRMEFMIERSE 0 0 0 0
D BEEEMIERE 0 0 0 0
I BEEMESTMmERE 0 0 0 0
SIS 285 (3) =7 ~1 0 0 0 0
(4) BB EIERE
L E R = (1)-(2)-(3) -2,164 -733 0 -2.897
2 EENEROE
() BENIRE
7 SN ODEALE 0 0 0 0
FEIREEE (1) 0 0 0 0
(2) BENER
7 L~ DRSS 0 0 0 0
BEAERE(2) 0 0 0 0
(3) HEFE N EFEE
LR SRS =(1)-(2) 0 0 0 0
3 MHA— B0 IE LRSS A= 1+2 -2.164 -733 0 -2,897
4 —REHRMEHERES 26,714 4,714 0 31,428
5 — iRk R =3+4 24,550 3,981 0 28,531
I IEEIEREIEDER
7 2WEHE -7 0 0 -7
ZHEHE 10 0 0 10
BB E STl A -17 0 0 -17
{ EXRHEERE 15,382 2,715 0 18,097
| SARBE R BIRA 15,382 2,715 0 18,097
7 —RRIFRME~DIRSEEE 15,382 2,715 0 18,097
| —eEngE~OEEE 15,382 2,715 0 18,097
1 {6 R IERRBL E EREE=T+1-") -7 0 0 -7
2 IEEERMENEES 790,826 139,557 0 930,383
3 e R EBMERES=1+2 790,819 139,557 0 930,376
I EGRBAE#REE=15+13 815,369 143,538 0 958,907




